1. KaneHgapHbIN y4eOHbIN rpadouk
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2. CBoOHbIE AAHHbIE
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Yrroro
ceM. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero
TeopeTunyeckoe o0byyeHne 182/3| 18 [362/3|182/3|182/3|371/3|182/3| 16 (342/3|182/3| 14 |322/3|1411/3
3 [3K3aMeHauMOHHbIE ceccun 11/3 2 |31/3|22/3| 2 (42/3|11/3| 2 |31/3|11/3|11/3|22/3| 14
Y [YuebHas npaktuka 2 2 2
HayuHo-unccnepoBaTtenbckasi pabota 5 2 5
(paccpea.)
M [NpoussoacTBeHHas npakTuka 2 2 4 4 2 2 8
1 [BbinyckHas kBanudukaumoHHas pabota 2 2 2
I |Foc. 3k3aMeHbl n/unu 3awmta BKP 2 2 2
K [KaHukynbl 2 8 10 2 6 8 2 6 8 2 | 82/3[102/3|362/3
WUTtoro 22 30 52 |[231/3(282/3| 52 22 30 52 22 30 52 208
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